Quiz #5
Calculus 160
Spring 2006, Hunsicker

Name IHRTLUHC

1) Define level curves of a function of two variables and explain what the definition means using
diagrams.
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2) Find the equation of the tangent plane to the graph of f (x,y) = e’ —sin(y) + 2x * y
at the point (5, 0, 1). Then use it to approximate the value of f(x,y) when x=4.9 and y=0.2.
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Quiz #6
Calculus 160
Spring 2006, Hunsicker
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1) Prove that the gradient of f(x,y) is perpendicular to the level curves of f(x,y).
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2) Find all local maxima and minima of the function f(x,y) = ¥XY — X
and second derivative tests for functions of two variables.
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